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Name: __________________________________



1
The perimeter of a square is 56.  Express the length of a diagonal of the square in simplest radical form.

2
In rectangle ABCD, [image: image1.png]3x+ 15



 and [image: image2.png]


.  Find the length of [image: image3.png]AC



.

3
In the diagram of rhombus PQRS below, the diagonals [image: image4.png]PR



 and [image: image5.png]oS



 intersect at point T, [image: image6.png]


, and [image: image7.png]30



.  Determine and state the perimeter of PQRS.

[image: image8.png]




4
In rhombus ABCD, the measure, in inches, of [image: image9.png]AB



 is [image: image10.png]Ix+ 2



 and [image: image11.png]BC



 is [image: image12.png]x+ 12



.  Find the number of inches in the length of [image: image13.png]Do



.

5
As shown in the accompanying diagram, a rectangular gate has two diagonal supports.  If [image: image14.png]


, what is [image: image15.png]


?

[image: image16.png]




6
In the diagram below, quadrilateral STAR is a rhombus with diagonals [image: image17.png]54



 and [image: image18.png]TR



 intersecting at E.  [image: image19.png]


, [image: image20.png]


, [image: image21.png]SE



, [image: image22.png]TE




, [image: image23.png]


, [image: image24.png]m/RTA = 5y—-12



, and [image: image25.png]./ TA!

9y+8



.  Find SR, RT, and [image: image26.png]ms TAS



.

[image: image27.png]S 3x + 30 T

5y = 2)°

8x — 5,

9y +8)°





7
Al says, “If ABCD is a parallelogram, then ABCD is a rectangle.”  Sketch a quadrilateral ABCD that shows that Al’s statement is not always true.  Your sketch must show the length of each side and the measure of each angle for the quadrilateral you draw.


1
ANS:


[image: image28.png]


.  The length of each side of the square is [image: image29.png]56

14



.  [image: image30.png]14 v 147 = J2x14? = 1442





REF:
010736a

2
ANS:


75.  The diagonals of a parallelogram are congruent.  [image: image31.png]3x+1




.  [image: image32.png]30200+ 15




.
REF:
010533a

3
ANS:


The four small triangles are 8-15-17 triangles.  [image: image33.png]4x17 =63




REF:
081726geo

4
ANS:


17.  A rhombus has four congruent sides.  [image: image34.png]3x+2=x+12
x=5



.  [image: image35.png]


.
REF:
080735a

5
ANS:


96.  [image: image36.png]



REF:
010835a

6
ANS:


[image: image37.png]8x—5=3x+30
5x=35
7




.  [image: image38.png]Az

=1z




.  [image: image39.png]Gy + 8+ 5y-2=90
14y+6= 90
14y = 84




.  [image: image40.png]§1)-5
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ety
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REF:
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7
ANS:

[image: image41.png]
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010025a

